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cao

‘This could be by repeated addition

Calculations can be in £ or pence
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or5+250 (=0.02)

3/10 0r 0.3 is not enough but should be
awarded 2 marks

Award P3 for 130(%)
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For a process to calculate the initial or new pressure,
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70+20(=3.5)
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g 08 x 35" (22.8)

L2900 (22210 26)
OR“357%02(=0.7) and 80 + 30 (<26 t0 2.7)
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ORO07and 261027 and 3.5
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Accept any value in the range 2.6 to 2.7
if unsupported by working

Allow truncation or rounding of figures
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for a process to find the amount of oil bought in November,
2 750+ 0.5 (=1500) or 75000 + 50 (=1500)

for a process to find the amount of oil ordered in February,

g “1500” +1000 - 600 (= 1900)

(indep) for a process to calculate a 4% increase of their amount of oil, eg or “1900” x
104 (=1976) or increase in price cg 1.04 x 50 (=52 or 0.52) or 1.04 750 (=780)

for a complete process to find the total cost of the calculated amount of oil eg 52" x
19007 or “780” x *1900” * “1500”
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M1 implied by 7980
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accept any correct method
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or
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M1 for evidence at some stage of
intention to find the total ticket cost of 2
adults + 1 chid (eg soi by 200 or 170)

AND
M2 for complete method to reduce any
valid ticket price or combination by 15%
(eq full attempt at 85% or 100% — 15%)
isw

or

M1 for complete method to find 15% of a
valid ticket price or combination isw
AND

M2 for complete method to increase their
valid ticket price or combination by 2%
or

M1 for complete method to find 2% of
theirvaiid ticket price or combination

This may be at the start or later if
calculating individual ficket prices and
payments even if errors i the prices
Working with just an individual ficket
price will be M2M2max)

Valid ficket price combinations are eg
40,80, 120, 160, 200

“Complete method” means it would
lead to a correct answer i not for
arithmetic slips

M2 may be implied by eg 170, 34, 68,
102,136

M1 may be implied by 30, 6, 12, 18,
2

May be from an original Valid ticket
price or combination” o from a
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75.2(7...) or 75.28 or 75.3 A1 | Allow 75 with correct method seen
Alternative method 2
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Because 1.3 is 130%

He s increasing it by 30%
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He should multiply by 0.03

3% s 0.03, (not 13)
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He needs to find 1% and then times it by 3
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